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-1, Anithmetic progression

et Tgpes of an Arithmetic pv‘ogvlession
-3, General form of an AP

-4, i Term of an AP

== 5, Sum of finst ntewms of an AP
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-~ 6, Arithmetic mean




An avithmetic progression is a sequence of numbers in which each
tewm is oltained by adding a fixed number o the preceding term,
except the finst term,

———= ] Ahithmelic Phoghessions =——=
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1=TlTem (Finst numbenr inthe AP, o)
3) 53 () (4
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Common (The difference betuween conseculive Terms in an !

difference AP is a fixed number , d )

The common difference can be

Positive
Constarit AP Increasing AP




== ] Types of an Ahithmelic —=

Pheghession

Avithmetic pwognession

|

inite AP

Limited / finite

number of Terms

\4

Ex:2 4 6 8 and 10

% Mut[‘lples of 31ill 30,

|

[nfinite AP

Unlimited /infinite

number of terms

m

Ex: All multiples of 3.




————— 3. Genehal Fehm of an AP ——==

A sequence of the form

xa,a+d a+2d a+3d a+4dandsoon

where a is the finstTerm and d is the common difference.

1" Ternm of an AP

a, ={a+ (n—1)d}
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where a isthe finst Term,
d is the common difference
n is the number of Terms inthe sequence and

a,, is the rith term,




—— S 3um of Fihst N1 Tehms i an AP —
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(When firstterm () and common | (When finstterm {a) and
difference () are known) ; lastterm (1) are known)

where 7 is the number of Tewms in the sequence and
S isthe sum of first n tewms

b.Ahithmelic Mean

S
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Ifa, b and © ave in AP then,

b is the avithmetic mean of a and .
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( @s Impentant Fehmulae ‘
——
n® Teem o{anﬁp a,=a+n-1)d
Sum of first n tewms in an AP n
(Whene finstterm (@) and common S Z2a B V)
difference () are known)
Sum of first 1 terms in an AP -
(Where finst term (a) and S 5 (a+1)
lastterm (1) ane known)
Avithmetic Mean (b) ,_at
(a, b and c avein AP) T2

@ TipsIPoints te be Remembehed ‘

While solving questions cortaining consecitive Terms, following
assumplions can be made 1o simplify:

TERMS TERMS TERM | DIFFERENCE
3 (a-d),a,{a+d (a-d) d
4 (a-3d)(a-d}(a+d),(a+3d)  (a-3d) 2d
5 (a-2d),(a—d}a(a+d),(a+3d)  (a-2d) d
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